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Uit - 10 Congruent Triangles

Mathematics-9

[gg; I Unit 10 — Exercise 10.1
¢ —
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Q.1 Inthe given figure (K.B)

/1= /2and AB = CB
Prove that
AABD = ACBE
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Uit - 10 Congruent Triangles
Proof
Statements Reasons
In AABD < ACBE
AB =CB Given
/BAD = /BCE Given L1= /2
/ABD = /CBE Common
AABD = ACBE S AA=SAA

Q.2 From a point on the bisector of an angle, perpendiculars are drawn to the arms of

the angle. Prove that these perpendiculars are equal in

measure.
Given

BD s bisector of ZABC. P is point on BD and PL and PM

are perpendicular to AB and CB respectively . D
To prove
PL= PM M
Proof .
Statements Reasons
In ABLP <> ABMP
BP ~BP Common
/BLP = /BMP Each is right angle (given)
ZLBP = /MBP Given BDis bisector of angle B
.. ABLP = ABMP SAA=S5AA
So PL = PM Corresponding sides of congruent triangles
Q.3 Inatriangle ABC, the bisectors of £B and £C A
meet in a point I. Prove that I is equidistant from
the three sides of AABC. (K.B) N
Given M
In AABC, the bisectors of B and ZC meet at |
andIL, IM, and INare perpendiculars to the three
sides of AABC. B C
To prove L
IL= IM=z IN
Proof
Statements \ Reasons
In AILB <> AIMB
Bl =BI Common
ZIBL = ZIBM Given Bl is bisector of #B
ZILB = ZIMB Given each angle is rights angles
AILB = AIMB SAA=SAA
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LIL=M_ (D)
Similarly

AILC = AINC

So IL=IN____ (ii)
from (i) and (ii)

IL= IM=z IN

.. 1is equidistant from the three sides of AABC.

Corresponding sides of = A’s

Corresponding sides of = As

Theorem 10.1.2

congruent.

Given

In AABC, z/B= £C
To prove

AB = AC
Construction

Draw the bisector of ZA, meeting BC at point D

Proof
Statements
In AABD <> AACD
AD =AD
/B = /C
ZBAD = ZCAD

(A.B)
If two angles of a triangle are congruent then the sides opposite to them are also
A
B 5 C
| Reasons

Common
Given
Construction
SAA=SAA

AABD = AACD
Hence AB =~ AC

(Corresponding sides of congruent triangles )
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